D)7x3=3+18 ® 2:3=4:6
@ 0.1:0.9=10:90 @ 9:45=1:5
11
—:—=23:2
®2 3

DL SAYULH 7x3=21=3+18




: 8.6

@7 @1 @)0 ® 10

D 8.6




3. The F 9Tl dalA v TR A ol AYUI

@ (29 A8)+ (#AE) @ (99 Hol)+ (18)
® (29 Fu)): (H4) @ (2%)+ (HAB)







oL AYU7A?

ol
RS

=

sh2 7] Vet

97159 =olE

5.




7@1—>(

AR L - (

AT o (

HE— (

HO - (

o
e

Gl

]

o B
HH
o mi
oo
2 =
- 0
BM
oo
B En
B o
-]
B
W
R~
Hr o
o ol
g o
T o




® 6=+




0 ™

Al Kae

3
5

4
=X
3

@)4+5
®

<t |

0 IM 0

B

[N Y] N
X .-
<t | <t
Il I
0N 1 [
o oo
<l Hln




AN &2 Rz 19

oFr o
o, 1T

IIIIIIIII










12. ohe T o] g2 B, HlEH 0 thehd Aoz vl ¢

e AL
T2AQ.

1 2

5 10
D 1:5=2:10 @ 2:10=1:5 ®1:2=5:10

@®)2:5=1:10 ® 5:10=1:2

1 2

5 10

-5 1x10=2%x5—-51:2=5:10—»2:10=1:5
@ wlAlo] ARakA) e

2x10#5x1




—_—

<

_.L
I

el
K
i
il
Nfo
,mo
T
ojn

et

W2 2)x3.14 JYt}.

(

ol W
ol o
i J_.NO
‘o] )

Nf T

—

ﬂ
o
ﬂ
Eﬂ_nr__\o_‘_

= o
m;w%
T g

- 0

00

1
x3.14




A

=

ZeA %

oo
rlo
Tlo
2
Ir
poY)
o
i
N,
D

O BE 99 9F&L oF 3.4 4Yrh

@ AF9 Zojol thet dF9] Hle& YF-aol2tal gyt




15.

] 2 ; 1
AT 1mo FAE 4= kg YUt £ H 62§kg—8—
77

1 1 1
@ 10§m @ 11§m ® 12;m

ins




=
QI

[®]+[@]=]0]

3®)12 @ 25 ® 48

@ 25

@® 1200

)
ee]
<5
Il
o) .
B
._. ‘H
o
S W
ey
Il %
o =
3|S
S
g S
rs
=
m —

(o]
=
2 ©
SHS




